Name:  _______________		Date:  ________		Period:  _____________
Kinetic and Potential Energy Problems
				or 	
1. List the unit that corresponds to the following variables.  Example Density is g/ml
	a. Mass 

b. Velocity 
	c. Gravity

d. Height 
	e. Weight

f. Energy



2. A cheetah can run briefly with a speed of 31 m/s.  Suppose a cheetah with a mass of 47 kg runs at this speed.  What is the cheetah’s kinetic energy?
	Given
	Equation
	Solve








3. A 75 kg rock is 36.5 m up a cliff what is its potential energy? 
	Given
	Equation
	Solve








4. The kinetic energy of a golf ball is measured to be 143 J.  If the golf ball has a mass of 47g.  what is its speed? (hint: rearrange the equation for kinetic energy to solve for v.  the equation will involve a square root)
	Given
	Equation
	Solve








5. When a 65 kg skydiver is ready to jump from a plane 275 m in the air, what is their potential energy?
	Given
	Equation
	Solve








6. What is the gravitational potential energy associated with a 75 kg tourist at the top floor of the Sears Tower in Chicago, with respect to the street 436 m below?
	Given
	Equation
	Solve









7. An Olympic diver weighing 650 N is on a platform 10 m above the water.  What is the diver’s gravitational potential energy with respect to the water? 
	Given
	Equation
	Solve








8. What is the mass of a toy car with a speed of 12.5 m/s and 47500 J of kinetic energy?
	Given
	Equation
	Solve








9. An automobile to be transported by ship is raised 7.0 m above the dock.  If its gravitational potential energy is 6500 J, what is the automobile’s mass.
	Given
	Equation
	Solve








10.  An Olympic high-jumper with a mass of 82.0 kg has a gravitational potential energy of 1970 J at the peak height of the jump.  How high is the jump?
	Given
	Equation
	Solve








11. A baseball traveling at a speed of 35 m/s has 89 J of kinetic energy.  What is the mass of the baseball?
	Given
	Equation
	Solve








12. A toy rocket traveling at a speed of 15 m/s has a mass of 1.75 kg what is its kinetic energy?
	Given
	Equation
	Solve









